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November 16, 2011

Modelling Quadratics Using Vertex Form

1) Sketch the parabola, if possible
2) Identify the key properties

3) Sub vertex (h, k) intoy =a (x - h)? + k
- if vertex is not given, use symmetry

4) Sub any other unused point to find a

5) Does your answer make sense?
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Ex.1. Determine the equation in
vertex form.
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Ex.2 State the equation of the parabola obtained by
applying these transformations to the graph of y = x°.
- a vertical stretch by a factorof 5 4. =<
- a vertical shiftof 9 units |- = 4
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Ex.3 Write an equation for the parabola that has a vertex
at (-3, 5), no zeros, and is wider than y = x2.
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Ex.4 Find the equation of the quadratic that passes through
the points (-3, 2), (5, 2) and (7, 4).
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Assigned Work:

p. 280 # 1, 2ac€), 3ace, 4, 5ac€) 6¢d

G@ w/ diagram) . @




04 Quadratic Models in Vertex Form.notebook November 16, 2011

2@ et P

l: 8=o

=lo
L

4,-2) 1

-20_

@) \5=-\—3(>\-%2- |2

Nov 16-10:30 AM

S @

%=

oo Fecacs wt‘f-‘o«:' o \
k<0 :

nacoder Hhan =" 3

\l Shekn ;
|&|>)

Nov 16-10:35 AM



04 Quadratic Models in Vertex Form.notebook November 16, 2011
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